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(A )5. There are four people in Sam’s family. The age of Sam’s parents
differs 2 years old. Brother and sister are so, too. Sam birthed when
mother was 26 years old. Two years later, my sister birthed. The
birthday of the family was all in June. Father bought a birthday cake to
celebrate. He took a candle in the cake and the digt of the candle 1s
100. It stood for the sum of the family’s age. How old is Sam now?
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(B )10. Today is father and son’s birthday. Father’s age is 26 more than
son’s. Father’s age is prime number(’#" #c). Their conversation is

below.

Son: My age is three times no greater than yours.

Father: Twenty years later, your age is two times greater than mine.
How old is father now? (A) 35 (B)37 (C)41 (D)43 years old
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( C )15. The taxi fare rate for general time in Tainan City: $70 for the first,
after 1.5 kilometers, the taxi meter is added $5 for each additional
300 meters. Today, Amber took a taxi and got off the taxi to pay the
driver $200. She also found the change. If Amber took a taxi by
meter tick away for x times, what was wrong with the following
description?
(A) The distance is 9 kilometers at most.
(B) The driver should at least find $5 for Amber.
(C) It has jumped up to 26 times.
(D) Amber pays $(70+5x) .
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(A )20. Right picture is one part of the swimming pool. Straight line L is
the poolside. Peter swims at 17m and his foot cramps at A place. A
lifeguard($c 2 f ) leaves him 21m far. He swims 10 m and saves
Peter at A place. If a lifeguard wants to bring him at the poolside of
the shortest distance, how far is the distance?
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2.1t 1s map of Dora’s house near. Someday, Dora buys a book and walks
along A->B->C 9D(the shortest distance). If AB=5km, BC=6km, and
cD=8km. AC 1 BD. The shortest distance from D to Ais  km.
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